Mounting instructions:  Sidebar series GM/GC/BM/BC/RM/RC

Opel Movano
Renault Master
Nissan NV400

SW13 (23Nm)

60 Min.

/ SW17 (46Nm )

Version: 1.05 September 2017




43
4b
5a
5b

Front bracket

Rear bracket

Middle bracket ( Only longwheelbase )
Big plate with slotted hole

M10x40 locking Bolt

M10 Washer

M10 Spring washer

M10 Nut

M8x60 Bolt

M8 Washer

10
11
12
13
14
15
16
17
18

:@: BM / BC Series only

M8 Spring washer

M8 nut

Plastic spacer

M8x40 Stainless Bolt

M8x30 Stainless Bolt

M8 Stainless washer

M8 Stainless washer

M8 Self locking nut

4x12 Nail (BM/BC Series only )
M8 Plate






Mount sidebar on the car
Look for the postion of the middle bracket
Remove sidebar and mount middle bracket

\ WS

the bolt in the plate first!! &

-

Use for rear and middle bracket.
/ M8 Plate has to go inside the tube.

Use stainless M8x40 bolt

For rear and middle bracket use parts:
12-18-15-16

For front bracket use parts:
13-14-16







	Kaft zonder logo new 2017
	onderdelen new 2017
	montage handleiding blad1 new2017
	montage handleiding blad2 new2017
	montage handleiding blad3

